TRIG. GRAPHS
y1

1- y =sinx 1+ y = cosx/

0 90° 180° 270° F60° X O 90°  180° 2Z70° 360° X

-1- -1
Max TP (90°,1) Max TP (0°,1)
Min TP (270°,-1) Min TP (180°,-1)

Ex 1

(@) Complete the scale markings on the x-axis.
(b) Write the equation of the graph.
(c) Write the coordinates of the max. and min. TPs.

1. 2.

Y1 Y1

3+ y = asinbx 5 ¥ = acosbx/

0 ' — fso°x O ' 180° X
i _5-
3. 4,

Y1 Y1

6+ y = asinbx 8 - = acosbx/

o ~ o x 0 ' 60° X
i -84




y = acos bx /

' 720° X

y= acosbx/

' 40° X

y= acosbx/

B, 6.
Y1 _ Y1
9- y = asinbx 101
0 ' 72°x O
-9- -10+
7. 8.
Y1 . Y1
2- y = asinbx 144
0 ' 54° X 0
_2- -14-
9. 10.
Y1 Y1
B- y = asinbx 12-
0 ' 20° ;( 0
-5 -12-
11, 12.
Y1 Y1
4+ y = asinbx 15+
0 ' 36° X O
-4+ -15-

' 40° X

Y= acosbx/

' 120° X



y=acosx+c

-a+C -

0 90° 180° 270° 360° X O 90° 180° 270° 360° X

Y1 13. y=asinbx +c¢ Yt 14,y =acosbx +c
124 15
10-
5-
0 ' ' " 180° X O ' ' 120° X
4 15. y = asinbx +c 5l 16. y=acosbx+c
o} W N S
_154




17. y = asinbx + ¢ M

18. y=acosbx +c

N <

20. y=acosbx+c

72° x O

21. y=asinbx +c Y1

180° X

23. y=asinbx +c Y1

22.y=acosbx +c

24.v =acosbx +c




Y1 Y1

14 /\y: sin(x - a) I'Nz cos (x - a)

o/  o90° 180°\ 270° 3p0°Xx O 90° \180° 2707 360° X

-

1T Max TP (90°+a°, 1) Max TP (0°+a°, 1)
Min TP (270°+a°, -1) Min TP ( 180°+a° , -1)

14 y = sin(x + a) 14 y=cos(x+a)
/,\ /. N /\

0 90° 280° 270°/360° X O 90° 180Y 270° 360° X

1- _1-
Max TP (90°-a°, 1) : Max TP ( 360°-a°, 1)
Min TP (270°-a°, -1) Min TP ( 180°-a°,-1)

y1 2h. y=asin(x £b) yt 26. y=acos(x £b)

3+ 6'/\
0/30° 90> 180°\ 270° 3p0°X O  90° \80° 2705315%360°X
-3- -6

27. vy =asin(x £ b) 28. y=acos(x +b)

M /\ N /'\
0 90° 180° 270°330860°X 0| 45X 90° 1807 270° 360° X
4 48




29 y=asin(x £b)

y1

19+

f15° s0° W

31. y=asin(x £b)

O\

360° X O

30. y=acos(x £b)

-15-

180° 27 '300°360°X

32. y=acos(x +b)

a

N\

60\90° 180°/ 270° 360° X

34, y=acos(x £b)

AN

90° N80° 270°330360°X

7 -12-
y1 33. y=asin(x £b) yt
3- 181
0/20°g0° 180% 270° 3p0°X O

-3- -18-

35. y =asin(x £ b)
Y1 Y1
2- 10-

90° 180° 270°34036

ox O

-10-

N

36. y=acos(x +b)

30° 90° 1897 270° 360° X




TRIG. GRAPHS

Y Y1

1- y =sinx 1+ y= cosx/

0 oo° 1800 270° Feo° x O]  ox 180° Z70° 360° X
-1 -14

Max TP (90°,1) Max TP (0°,1)
Min TP (270°,-1) Min TP (180°,-1)

Ex 1

(@) Complete the scale markings on the x-axis.

(b) Write the equation of the graph.

(c) Write the coordinates of the max. and min. TPs.

1. 2.

yt Max (45°,3) Min (135°,-3) yt Max (0°,5)  Min (90°, -5)

3+ = DSindx 5 y =5cos2x /

0 4 o)X 135° A80°x O] 45\ 90° /i35° 180° X
-3 5
3. 4,

Yt Max (30°,6) Min (90°, -6) Yyt Max (0°,8) Min (30°,-8)

6- y = 6sin3x 8 - y = 8cosbx /

O 30° 60N o900 220° X O 15N\ 30° /45° 60° X
-6 -8-




B,

yt Max (18°,9)  Min (54°,-9)

9- y = 9sinS5x

of 18 3k 54° /f7°X
-94
/.

yt Max (6°,2) Min (18°,-2)

24 y =2sinl15x

0 & 1 18° /24° X
-2-
9.

yt Max (5°,5)  Min (15°, -5)

5- y =5sin18x

o 5 1k 15° /20°X
5.
11.

yt Max (9°,4)  Min (27°,-4)

4 y =4sin10x

o o 1R 270 /36° X
_4-

6.
y

* Max (0°,10) Min (360°, -10)

104 y = 10cos'hx /

0 360° /540° 720° X
-10-
8.

yt Max (0°,14) Min (20°, -14)
14 - V= 14cos9x/

O 10°\ 20° /30° 40° X
144

10.

Yyt Max (0°,12) Min (20°, -12)
12- y= 1200s9x/

O 10\ 20° /30° 40° X
_124
12.

Yt Max (0°,15)  Min (60°, -15)
154 e=llS cos3x/

0 60° /90° 120° X
_15-




-a+C -

y=acosx+c

90°

13. y=4sin2x + 8

180° 270° 360° X O

Y:
154

90° 180° 270° 360° X

3

14. y = 5cos3x + 10

4 -
Max (45°,12)  Min (135°,4) > Imax (0°,15)  Min (60, 5)
0 45°  90° 135° 180° X O 30° 60° 90° 120° X
4. 15. y=4sin2x-12 5l 16. y=5cos3x-10 _
Max (45° -8)  Min (135° -16
& ax ( ) in ( ) 7 I N A

Tmax (0, -5)

Min (60°, -15)




" 17. y = 85inbx + 8

Max (15°, 16)
Min (45°,0)

N 18. y=6cos9x +2

Max (0 , 4)
Min (20°, -2)

0 15° 30°  45°

"1 19. y = 3sindx + 4

Max (18°,7)
Min (54°,1)

60° X O 1b°W3'0° 40° X

Y1 20. y=7cos10x+7
Max (0°, 14)
Min (18°, 0)

Y A VR
2 W U AN

1-

0 18° 36° 54° 72° X O % 18°  27° 36° X

M 21. y=4sin2x + 8

Max (45°, 12)
Min (135°, 4)

"1 22.y =12cos3x - 8
Max (0°, 4)
Min (60°, -20) ra

30° 60° 90 120° >

™~

Y DO R A
4]
_20.
0" 45° 90° 135° 180° X
" 23.y="06sin10x+2 Y1 24.y =9cos5x +3
8- Max (9°, 8) 12 Max (0°, 12)

Min (27°, -4)

Min (36°, -6)

0 g° 1'8°W3'6° x O 18°\. 36° /54° 72°X
. i

o
v




/\y: sin(x - a)

/' 90° 180°\ 270°

C N\

1T Max TP (90°+a°, 1)

Min TP (270°+a°, -1)

y=ysin(x + a)

/

350°X O

y1

14

y=cos(x-a)
/\ /

-

90° \180° 2707 360° X

Max TP (0°+a°, 1)
Min TP ( 180°+a° ,-1)

y=c0s(x+7\

90° WBBOO X

Max TP (90°-a°, 1)
Min TP (270°-a°, -1)

25. y = 3sin(x - 30°)
Max (120°, 3)

™

27. vy =4sin(x + 30°)

Max (60°, 4)
Min (240°, -4)

4.

90° 1280° 270°330360°X

/\Min (300°, -3)
30° 90°  180° 360°X O

y1

64

90° 180Y 270° 360° X

Max TP ( 360°-a°, 1)
Min TP ( 180°-a°,-1)

26. y = 6cos(x - 45°)

Max (45°, 6)
/\Min (225°, -6) /

90° \IB0° 2703315%360°X

~6-

28. vy =8cos(x + 45°)

Max (315°, 8)
Min (135°, -8)/_\

270° 360° X




y1 29 y = Ssin(x - 15°) yt 30. y=15cos(x - 30°)
Max (30°, 15)

5- Max (105°, 5) 15+ ,
-/\Mm (285°, - Nin (210°, -15) /

0)/15° gg° Wow 0 90°\ 180° 270300°360°X
-H- -15-

31. y="Tsin(x + 15°) 32. vy=12cos(x + 30°)

7- Max (75°, 7) 124  Max (330°, 12)

/\ Min (255° Min (150°, -12) /\
° \_90345%600)( 0 ' 30°/ 270° 360° X
7 -12-

y1 33. y = 3sin(x - 20°) yt 34. y = 18cos(x - 60°)
Max (60°, 18)

3- Max (110°, 3) 18- ,
Min (290°, -3) /\Ain (240°, -18) /

0//20°g0° 180N\ 270° 3p0°X O 90° N80° 270°330360°X
55 -18-

35. y =2sin(x + 20°) 36. y = 10cos(x + 60°)

2- Max (70°, 2) 10  Max (300°, 10)
/\ Min (250°, -2) LMin (120°, -10/\
0 90° M80° 270°340360% O[30° 90° 1807 270° 360° X
24 101




